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Read the following instructions carefully before you begin to answer the guestions. This Booklet contains
questions in English as well as in Hindi.
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3149329

Before you start to answer the questions you must
check up this Booklet and ensure that it contains all
the pages (1 -24) and see that no page is missing or

repeated. If you find any  defect in this Booklet, you)igfrar, At Ty e g IR A |
must get it replaced immediately.
INSTRUCTIONS TO CANDIDATES Feaitant & A iy

. This Booklet cortains 200 questions in all comprising thell,  ewofeee# o= 200w E, e FrTaTEe o 0T 8

following four parts | : R

Part A .General 1g?alliganm and Reasoning (50 Cuestions) 71 - WA YR T 50 57%4)
Part B :General Awaraness (50 Questions) W1 W« TR {50°7H)
Part G ;Quantitative Aptitude (50 Questions) WIAT T EEATEH® MG o |50 FE)
Part [ :English Comprahansion (50 Questions) ST I, AT AR (50 )

2 In questions set bilingually in English and Hindi, in cess of 5 3 mmm#wrﬂw Crseh i & Y R g

discrepancy, the English version will prevail,

FemrTy 75 Mt aTor e 819 |

3 Al questions are compulsory and carry @qual marks.

4, The p:fﬂr(.‘amﬂs negative marking, 0,25 marks will be deductad||s ~ FT A8 oS £ T HER ATAT R E |
for e4ci winng anawer, R Y A Irad ¥ T 0,25 3 el

5. vou will be supplied the Answer-Sheet separatefy by the . o L FLs T
Invigilator, You must complete and code Ihe detaits of Mame, A
Roll Number. Ticket Number and Test Form Number in the(fs, | forfFerss et oy sevet-offe arorar & Ay Fmoaft | Feeil Gheer #
Anawer-Shast carefully, You must also put your signatire andy ErardT & WA CITEGAE T A, U A, Rhe ae
Left-Hand thumb Impression on the Answer-Shest st fhe 3t e ok g vy ol | Wl & Srad ATETE A UE T A T6E
prescribed place before you actuslly start answerha thef # A m
guestions. These instructions must be fully complied with, failing FeeTraTEeRT T T e T 3o BT U A A1
which, your Answer-Sheet will not be evaluated. a7 FeyamsT oy sree wad | SOdEe Faeih @ ol o e i E

£ Answers must be shown by completely blackening the TR AT S - THE A A A | N,
corresponding circles on Sidel of the Answer-Sheel againsi the S eHTTRE o Fw d B
relevant question number by Black/Blue Ball-point Pen only 5 E # Tl e side 15 o . LR
Answers which are not shown by BlackiBlve Ball-point Pen wil ST EE S A W afR-aTge i A ol e S
not be awardad any mark. o« g, i

| otbemwmmed my ik C b Arar|| TR | SR R R M v O ) S S e, e
Sheal In case the information is ncomplete or different from thef T s afe g fegar o |
information given in the application form, such candidate wiill b
awarded 'ZERO' mark. 7 U, Teo-aTe s T e we o v e el | A

8.  The Answer-Sheet must be handed over to the Invigilator bafors T T & 3T e T # & 1% Hen & TR, i el
you leave the Examination Hall. 13T 3 e e |

9. Failure to comply with any of the above instructions will 5 - g e
render a candidate liable to such action/penaity as may be B ﬁﬂﬁ!ﬁﬁq‘ﬁﬁ LiED * w
deemed fit. arfge |

10. The manner in which the different questions are to be answered|{a. T 0 AT A # Pl we w7 ot v e o7 AR T
has been explained at the back of this Booklet (Page Mo 24), mmrﬁﬁmmimmwmmh
:T;r;b;.:;u should resd carefully before aclually answering the 10, PR & 3 2 o R e ol (e T 24) oY

i1, Answer lhe questions as quickly and as carefully as you can, BT j?ii‘eﬁﬁﬁ’lﬂ%.ﬁmm % Fea & & Upe gl g e |
Some questions may be difficut and others sasy. De not spend|11. M9 3 Yoot Toveeit STo B T T T & | e AT

12 tsg r::ch:r:?n:: ?:ﬂqu::ﬁ;;ﬁb on the Answer-Sheet. Blank et Bl i ol o 7|

: ugl o . P =T e # Rrftre

spaces provided at various places in the guestion booklat 12 ﬂwﬂm Al LRl #
may be used for rough work. wmt o FoEer AT FE ST 6 W e wn wwa

13. “Mobile phones and wireless communication devices are\| . .oy gic ; gl s AiTEw WIT U7 ST AT FIUA G A AT
completely banned in the examination hallsrooms. ; L a
Candidates are advised not to keep mobile phones/any other ﬁmﬂmﬂ#hﬁmﬂm# HhaTE Wi/ fl
wireless communication devices with them even in switched F AT AT AT v e 3w W A e A | T
off mode, in their own interest. Failing to comply with this wagmam#ﬂm#ﬁﬁ?mﬂmmmmaﬁr
provision will be considered as using unfair means in the S e e A et T WA e A E R
examination and action will be taken against them including
cancellation of their candidature.”
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Pant A: Ganeral Inlslligence and Reasaning / 317 & W8T §R70T o7 sdwinT

ol e ke ol e ke e e E}
Part A: General | g ing
Par ral intelligence arrd Reasonin A Lawyer/ adhra B) Legislator / fatmas

HIE &: WA FREFe v i
C) Mayor / FTT D) Governor / Iad9TeT

1) Introducing a man, a woman said “His mother is the only
daughter of my father” .How is the man related to the 9)

worman?
U 9O 1 IRET FI 5T UF AREr o Fn, czwdy A Acute | 7 B Parallel / wRiR
A A R i gaelel o B qevaRer @ R | ) Right/ T P Obtuse / 3t
W HFe ~ud &7 10) = == =
A) son/gx B) Father/ frar A) 50 B) 120
C) Brother HT@ D) Unecle / =T9T Gj 37 D) 145
il 11)
Directions / fAger: In Question nos. / ¥¥7 H&JT 2o 7, selsct A) BS B) EV
the rolated wordflettersinumber from the given & DX D) IZ
allernatives.
T I faFet H & sralt e e aer # g 12)
2) BLOCKED : YOLXPVW : : 7 : OZFMMXS A) OKHA B) PERU
C) ERKU D} ANDI
A) LABOURS B) LAUNNCH ;
C) DEBATES D) RESULTS 13) _°
3) 12:72::8:7 A) 200 B) 191
C} RrOg D) 1331
A) 36 B) 32 \ :
C) 38 D) 40 14) Find out the number of circles in the figure.
3 A+ goear f @Em A fiie)

4) FIG:EGHJFH::BIN:?

A) ACJHMO B) CAHIMOC
C) CAJHOM Py ACHIMO
) 6:42;:7:%
A) 48 B) 40
A) 18 B) 20
56
¢ D) 52 c) 16 D) 19
6} Garbage : House : : Gangue : ?
FEAT BT HTETEY 9 Diractions / A& In Question nos. / o F&JT15 to 17, which
one set of letlers/numbers when sequentially placed at the
A) Factory / FREET B) Drugs / after gaps in the given leffer series shall complete it?
C) Office s Friay D) Ore s 3T HEWHEHIH &7 Fie-T THE BT FAF 07 FHIT (57 8
&Y areft zmTe A S QT Fa?

7) DBU:EEZ::CJH:?
A) DMN B) DNM 15) SH_ELAS _EELA_ HEELASHEE _A

C) DNN Dy DMM A) HHSS B) EEHS
C) ELHA Dj EHSL

Directions / fadr: In Question nos. / ¥4 W&T810 13, find the| 16) 12'd1_ 4123 234
odd wordfetters/number from the given alternatives. 3 I
A) 3212 B) 2134

R oo Rweql & & fResr sy sremraear g0 C) 3241 D) 1432
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20) In a certain code, FRACTION is written as FNATTCOR.
How is QUANTITATIVE written in that code?

Feft #1 & FRACTION 1 ‘FNAITCOR' & ¥ & Tor@r
Srar & & 38 F1E A QUANTITATIVE Fr &3 farar
ST

A) QTNAVIAITETU
C) QTEATUIAVITN

17) __aba__ba_ab

A) abbbb
C) bbaba

B) baabb
D) abbab

18) from the given answer figures, select the one in which the
guestion figure is hidden/embedded.

&1 areft Fea ATt F F 3 eer A F IR
a9 Mg PR 8

<)

2] e

B) QIATAETUTNVI
D) QEAITATITNVU

21) If 2 mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure ?

T T T T MN 3T O 3@ St & i 3eae
Tt 3 & wler-ol ampler weer ampler & wE wiafEeT

o

D) =

19) A word is represented by only one set of numbers as given in |

any one of the alternatives. The sets of numbers given in the |~ @ o ‘
alternatives are represented by two classes of alphabets as in IS ngn NPl (o] b=
two matrices given below. The columns and rows of Matrix 1 -
are numbered from 0 to 4 and that of Matrix II arc numbered N ¥ ¢ Lo =

from 5 to 9. A letter [rom these matrices can be represented A) B) C) D)

first by its row and next by its column, eg. A’ can beg e
represented by 01, 14 etc. and *M" can be represenicd by 22) Find the number that is common for all of the clue's given

56,68 etc. Similarly, you have to identify the set for thegwerd below:

‘EAGLE’. { A forw o wef ST 3 T WA SET FAEY)
wﬁmﬁﬁwdwmmmtmﬁ a) Virgo [ =T

foymreat 3 3 Tt weh 3t R v ) Rl # fow arw b) Volleyball / afely &Te

WWW & 2 avit g qUTL AT E, ﬁ%ﬁ ¢) A highest scoring shot of a particular sport / Ty @er 1
forw arw & HTEgET # ) gy | & e AT A A FeOR 3 UTo G aTe giie]

e 0 A4 F ST IR TR I S F 9, 5 NS H
v e P O 30 H afed R A & T S
maﬁmmﬁma TeERUT & fAT A #0114 HE
ZaT g2l ST ST & AT M Y 56,68 31T ZErr 2
1T & =% e & 3wy wee BT 4eg ‘EAGLE' &

ForT W 1 GEaTetT g
MATRIX - | MATRIX - I
0[1]2[3]4 5676 9
o PAGRZ S5EMLNO
1/G R ZP|A| |6/LIE[OMN
212 PAGR |TONELM
3'alG/RIZ/P [B/NO/ME L
4RZPAG |[9MLNOE
A) #.22,31,89,76 B) 66,43,44,79,88
G) 99,01,44,96,77 D} 55,14,11,78,66

d) Extra sensory perceptions / EfFgdaT A

A} 8B B) 4
e) 2 D) 6

SH20TE /3140320
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A: Gansral Inteligence and Reasoning / KT & FAwT Jiaton Fr shwihT

23) Directions: Siudy the diagram given below and answer  28)

question.
B sz a7 ez FfFa Hiv v &7 Feaw diad 4
The Qualified and experienced doctors working in villages 7
are represented by:- 343
gt # SRR 3T vE Hasd s v
e &7 A) 1332 B) 1321
it c) 1231 i 1331
S /% GUALIFIED DOCTORS
vl | vt et 29)
LES ; | EXPERIENCE DOCTORS -
L [ it e T r 1
|/ pogTons woskmg 0. _"v i 8 5 2\_1__|__\|._ 5 |
(133 196/ (7] |
A) 4 E) 5 G '("I"”“ - I_&TM\T
c) 2 D) 6 i B g 4 .
24) In a certain coding system APPLE stands for ETTPL Whatis ~ A) 535 B) 451
the code for *‘DELHI"? c) 702 D) 154

oY 15 sqa e # APPLE &1 %15 ETTPI §] ‘DELHI" &7

30) Name a singledenier, which can be deleted from the hody of

HIE 4T g the following wonds to form entirely new words?
A) COMND B) ZAHDE oft g @ A e 9 F v Pereiae vt A &
G) HIPLM D) CQPLM P T O T BT ST T R
HOST POST COST LOST STOP
Diractions / & In Question nos. / W97 F&IT 25 to 29, select A) P B) P
the missing number from the given responses. cws D) O
@W??ﬁﬁf##ﬁﬁﬁﬁmﬁ ) = [ —
Directions / A& In Question nos. / F¥ &&AT 31 to 32, one or
fwo statements s given followed by Iwo
ah conclusions/assumptions, | and ll. You have to consider
the statement to be true, even if it seems to be at variance
p WF I\J’/’ from commonly known facls. You are lo decide which of
the given conclusions/assumptions can definitely be
A) 12 B) 7 drawn from the given statement,
¢y -12 D) o o 7 & aeaey foar g & G et gt
26) | 40 32 72 12 frsavaeaar, | Hivi. Rt av fargst faw e
Il 56 7 8 15 L T I LR e—
A) 49 B) 36 flim7 gelie glar ehsmaat Avfg &var & & e o
C) 46 D) 48 FFdeq # & Fla-ar Fffaa w7 & aJF Fenaeaar
27) fAwer ST T 8
)| 7 m
[ (] 2] [& [= -=||3_':'?:'3__}
5 | 2 | q
A) 16 B) 12 '
C) 90 D) 48
SH201E [ 3149323
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Part A: General imlefigence and Reasoning / 557 % Heq Slasm 05 qdeiRks

31) Statement: No'rud is pod. No pud is Mexible:
AFFEd : PIS O ol G B FE T w=hel 78 &
Inferences / HIEAT:
1- No rod is flexible, / FE o F=1a 78T #
11- Some pods are flexible / $&F wAT sl &

BY Only inference I follows.
Fae AT | WFear

A) Both of them follows.
2=t meaar PEadr g

¢l
C) Only inference Il follows. D) Neither of them follows.
Fad AT 1 2=t # & | A
et 2l T8 P #

32) statement / TFTE:

A good book even if costly is sold out in no time.

Uk 3T TEdTe JEdi gl 9X Y ey faes St )

Assumptions /| AFFAT:

I: Some books are berter than others / F TFereh 3=41 &

g B o

11, All good books are costly / THT 3=t GEa+ Agal alet

8

A) Only I follows. B} Both | and 11 follows.

Fae AT | e A=gar | 3T 1 g

g e B

&} Neither [ nor 1T follows. D) Only II follows
7 Aegar | v a g oo A 1
e B el #]

33) If CUSTOM is written as UCTSMO then how PARENT will
be written in the same code?

7fE CUSTOM FT UCTSMO forar 5iic & &t PARENT I
3 Torgr Soem?

A) TNERAP
C) ERAPTN

B) RAPTNE
P APERTH

34y In the question one part of the problem figure is subtracted.
Select the option that shows the correct shape by the
subtraction.

TH W A WO T 1 U H9T 35T R o g o
TraeT AT S W FLA F &g TE F S2AATE

36) If ‘air* is called *green’, green is called *blue’,

35) Two position of dice are shown below. When three is at the
top what number will be at the bottom .

A= o T Y 2 PR gy = fufe s dear ar
#Arer sty T gt

- (R 4 |
i L & ']
:.lli :':f e
A) 5 B) I
2) 4 D) 2

‘blue’ is called
‘eky’, ‘sky’ is called ‘wvellow® , “yellow® i called *water’ and
water is called *Pink” then what is the color of clear sky?

o, g F T FE T, T H A FT S, A
I T gl ST, H1 Ui Hel J1T, ey Fi
"UTHY ST ST HITETT HT T[eTET HET AT Al Jh
TN AT TaT SR T

B) water / aret

D) Blue /#rar

A) Nellow FETHT
O giyl 3T
37} A piece of paper is folded and cut as shown below in the

question figures, From the given answer figures, indicate how
it will appear when opened.

e v it & e HEEH ST AT F
FIEe a2l Tl & F18 9 [0 3oad g S e

UUX::I.;. omu Déﬂ | oug
-:.1‘:l q.'! amn DD:O:.- | G e
] B) C) D)

38) If the words are organised in reverse order of what they
appear in dictionary, which word will come in the third place.

B Al p e eC oL e e R T

_ E = N # coateua frar Sire o dr T o e 1 ae
— EN )
I & A) Beculist B) Odium
Kj *_\ | % G) Odious D) Ordeum
A B) ST
onhit Downloaded From: http://sscporta in
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Part A General intelligoncs and Reasaning/ S & SR g 07 aHaiae

43) Veena and Veeru both start from a point towards Morth.

Directions / f&er: In Question nos. / 5#4 H&T 39 to 40, which Veena turns to left after walking 10 Km. Veeru turns to right

answer figure will complate the patfern in the guestion after walking the same distance. Yeena wails for some time

figure? and then walks another 5 Km. Whereas Veeru walks only 3

T T el & Hiawy QT F7 Km. They both then retumn towards south and walk 15 Km. |

il s ¥ LS forward. How far is Vecna from Veeru?.

39) et AN w2t T T & Ioae R F 99 4% awa
& e 10 PRefr. Tore & T a1d a1 st ) % e

/ Tole o A8 el HE F4T 8] 99 o 90T § o0 Fhar g
i 3 iRT s et 3 wordlt &) et de e 3 TRaln,

wrora #] TRt & 2yt o feem 7 atea & 3R 15 et

J— | - TeAer §) a8 | T gy &
: A) 2K m, / B, B) oK. / foratr.
‘ | €) §xm. | i D) 15Km. / .
LY B) ¢ D — =
44) find the missing number?
40) o TEIT AT AT

= = 2, 5. 10,17, 26,2
A/ ) A) T6 B) 49
=\ C) 37 D) 47
o T

45§ To jﬁmfy the correct response from the given premises
stated according to following symbols .

i@ v & e B v e @ wEr

| .
» / ‘ >/ | Ioal A ffEd
/_ | ‘A’ stands for not less than {‘f}

N Sl 7 DV § W 3 X A AR F (D)
o ‘B stands for not equal to ()
Directions / 3w In Question nos, / ¥¥7 F&IT 4110 42, ‘B @ FE ¥ s A ¥ ()
fﬁﬂﬁg Jﬁiiigﬁﬁn tg:fuifsr Pay “C" stands for not greater than (¥)
T HR@ 7T Ffora 5 Ao e Aorat & ater gaifts ‘O I d T A § ()
Hatr &t e & ‘I stands for greater than(>)

41) Vegetables, Potatoes, Eatables ‘D'F I [ AT ()

ieAar, Hid, ey qmﬁ-l ‘E’ stands for less than (=)
BRI ETAFAE ()
‘ 'F* stands for equal to (=)
Y Q P WY F A § (o)
Premises / T 4YF3x and / 3T 3xF6Z
X) 2YF3Z B) 4YBSZ
42) Christians , Catholics, Pope C) 2YD3Z D) 2YE3Z
éml? Fqfae, o
SRI0TE f 3140309
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Part 4: Ganeral Intefigance and Reasening / 5777 ¥ T gigmem 1o sbifs

46) Ravi is walking in the East direction, Afler covering a
distance of one kilometer, he turns 45° left and then 90%
right. In which direction is he now?

A aaw g & FL frgliaa s Fag
g% 45° aT0 AT & T 5T 000 ardt AT B SH AT
o

A) North / FFEX B) west/ afdes

C} North West / 3eag ufFas D) ‘North East / 3eod 98

47) Which of the following jumbled words is not an animal?
| e seaafiug et A @ st ar veg Sea At

&
A) LATHPEEN B) TICRECK
¢ FEFEOC D) TAR

48) Arrange the following words as per order in the dictionary .

i@ =l =t o Fier & o 710 %9 F 3ga

e

{1 Hale (21 Hake (3)Halt () Hamlgt (5)Ham
A) 1,3,5 2,4 B) 2,1,3,54
C) 2.1.4,3,5 D) 2.3,5.4,1

49) [f 4+ means ‘%’ , "—" means '+, ‘X" means ‘="' and *+" means

*+*, then what will be the value of 16+64—8xd4+2 7
AT v w A W H AR E AT SR
IR 2w AR TF 16+64-8x4+2 I AT T
B

A} 12 B) 24

C} 16 D) 18

50) From the given alternative words, select the word which
cannot be formed using the letters of the given word.

TR R ddar g Sk v wme &

T T THNIT Y TGT AGT T Tewedl B
'‘BOOKBINDING'
A) DONDING B) DOING
C) DIGGING D) DINING

Lt
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Pavt B: Ganeral Awareness / AT & ST FrET

HARAREEEELET S 56) Swaraj is my Birth Right and I shall have it, This was
Part B — " advocated by:
ﬂ[l lgﬂnﬂ warenes
TEUS A Fen e wEwR mﬁs@rmma

HPT W WA SISl

TRaN|TE e AR on

51) A Computer executes Programs in the sequence of :

: A} Mahatma Gandhi B) Lal Lajpat Rai
e TH FA F A & Fvaa w1 E 5
o HETcAT AT T Fodd T
A) Decode, Feich, Execute B) Execute, Fetch, Decode C) Sardar Patel D) Lokmanya Tilak
feis, ther, QealagE trsirrge, %, s TER TeH dFa Hew
c) Feich, Decade, Exeeute D) Stwre, Fetch, Execute = i
vy, B, tvalege 2R, e 57) Which of the following is called the Light house of the
N ' Mediterrancan?
52) What is ‘Reformation’? - CrafafEe 3 & R ey anR 1 AR @5y
U #4477 Fea ¥ |
A) Revival of classical B) The revolt against A) Stromboli of sicily B) Mount pelee of West
learning / FAdTATcAR authority of pope / 99 & fraar @ s Indies
AT & G VE yie & TEem B afvae @9 §HE H
C} Rise of absolute monarchy D) Change in attitude of man AT G
[ TS & 3BT | AT & FTER saed C) Paracutin of J¥exice D) Vesuvius of Ialy
& ofrader Hfamat 5w sedr = faglaay
53) Which of the fallowing particles has the dual nature of 58) Wha of he f”“m’ﬂﬂg has given the term rhizosphere:
particle- wave 7 festhay oeg Feeiad # § FREe e O
fretataa fee soit # Fofrm-atar & sfavsE
) i Al Alexopolus /| YA B) Garret / M
e &7 C) Mone of the givenoptions D) e s fireeett
A) Meutron IFZE'TH B) Electron Iaﬁ'ﬂﬁ'ﬁ' ! §HH HH EFH? ARt
) Meson / #irsia D) Proton /sl 58) Which one among the following industries is the maximum
= ~ consumer of water in India ?
- S RS # FrtarEe R se & o f ave
& &r urdF &
TH 3 IS SR ¥ i A &
siri 5 ndusirial Designed
A) Small Industries B) Small Industrial Designe A) Textile R -
Developmental Banker Bank of India / THTT :
Institute / FATA fae 4 FaEr 364N EE DGR
. : TG - C) Paper and Pulp D) Thermal Power
EEfsARECLr AL u .
ghregae
C) Small Innovations D} Small Industries
Drevelopment Banker” s Development Bank of
Institute { FATH India | TATH SSEEIT
ZeTd e SAEUAT s d% HE
dwy sfeeeye sTosar

§5) The metal ion present in vitamin B121s :

fertae B12 & o7 urg 3 I9Teud Er d)

A} nickel | T B) Lubalt/ FrETee
C) iron /AL D) ine /Tl
BKI016 § 3149320 PT.O
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Part B: Gomrad Awavenass S 897 &0 SE=T FrAFT

69) Microbial degradation of nitrates into atmospheric nitrogen is 75} Pulses are obtained from the family: *

ERCI 15 . T TeEt ¥ IW o & e g £
TYFETATT A & R AL F gEAedry
A) Liliaceae B) Fungi
faEes @8 FEerarn & Frertredy e
A)  Ammonification B) Denitrification C) Cycadaceae D) Leguminosae
AR LOIiEAETL wEdRdr IR
C) [Putrefacation D) Nitrification
Tt 76) Who was the Indian women president of the United Nations
iG] G Eilﬁﬂ o
(General Assembly 7
70) Which of the following is in the ascending order of Data YA UG HET WHT T GEel Afgenn AT HETRT
hierarchy ? whr o
Aaf@a A sl | 2er gRueEd F AR w9
A) Margret Thaicher B) Golda Mayer
¥ A ey Tresr AW
A) Bit - Byte - Record - Field B) Byle - Bit -File - Record - C) Sarojini Naidu D} Vijaya Lakshmi Pandit
- Database - File Database - Field AET g fasT =T uftea
- ETRAY - BIET . EeTAg - fies 77) The one rupee note bears the signature of ;
C) Bit - Byte - Field - Record D) Field - Byte - Bit - Record Uk TG F e G {FEh FEan| gd 87
“ila - Databigs y = File- Datsbens ;) A) Govemnor, Reserye Bank  B) None of these
fac.age .- Aes- R fies-ase -fae - R of India =t F
- BISH - SICTEE - ST - ST E g & 37w s &
71) T_hr: best milch breed in the world is : & Sinincé Minister D} Secretary, Ministry of
TR i Ha oA GIoaT 78 ¢ ' St sHY Finance
A) Deoni B) Holstein - Friesian e FAw T & AT
Frsttams e T %
C) Sindhi. D) Chittagong — e
faefr faeaitar 78) What is the currency of Saudi Arabia?
w ey tfaar v mer w2 #7
72) In which year was the Indian National Congress formed: )
: , A) gi B}
SR TSET IR &7 715+ =6 T8 5T Riyal / Rame V. F RISE
x) 1 _N C) Lira/enr D) Dinar / EFR
e
€) 1853 D) 1885 79) Reserve Bank of India was nationalised in:
73) Bangladesh was created in- Rerdr 3 a7 oo 3 A g
FTET 3T T TUTTAT 57 a9 §5- A) 1951 B) 1947
A) 1973 B) 1970 ) 188 By
9l B ], 80) Which among the following is a folk dance of India.
74) Raja Ram Mohan Roy was the founder of: Rl #F # Fi7 a7 AT AT 87
FHE FEYTTEH AT T Alget 44 2 A) Kathakali B) Mohiniatiam
A) Brahmo Samaj B) Prathna Samaj FHUH A
FEA HATS AT TS C) Manipuri D) Garba
C) Ram Krishna Mission D) Arya Samaj wforgdr T
TGO T I FrETS
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Part B: Genoral Awsvsness / Mo & TR SRR

81) NABARD stands for : -~ 86) Day and Night are equal at the :
U T T INCE (A=) THH ATEF - 78l 9 Rt aur oa o @A i §
A) National business for B) Mational Bank for : A) Prime Meridian B) Poles
accounting and Reviewing agriculre and rural THE A uF
[ A T B development/ AT dF G} Equator D) Antarctic
c . ; B7) Economic profit or normal profit is the same as :
C} Mational Bank for D) National bureau for air
aeronautics and radar and road transport / 3flis @1 Y AR A 56 F9 H A O
development / YA #o HUAA AT PIT THT ¥
W ARy s wos U5 gRdre A) accounting profit / #@T B) optimu profit/
AT GLE
i AR il
= C) D) maximum profit /
82) ¢ : o Gt net profit / & FTT
) Surplus budget is recommended during : T AT
o eRe nfieT asie & Feghy fr o 8
88) Evergreen type Fopests are found in:
A ot B %
) Depression / #Hal & ) Boom /S ¥ 2 TR en % & T O o E
. A) Mediterranean fegion B} Monsoon climatic area
C) War/ g wre F @te P) Famines / 3 F 2h U Y e SRR S
== ; : i D) Eqguatorial regi
83) Who was the first Speaker of the Lok - Sabha: #l p“‘-’;:‘gm“ } P mg&:
ites T & T U S ST
A) B.R. Ambedkar E.:l G.V. Mavalankar 189). The gene which exhibits multiple effects is known as:
1. 3. 3T i & AEEE it S ag wwmEr S weia $t § 9 S o
C} N Sapjr:ev Reddy D} Dr. 5.P. Mukerjes A) Pleiotropic B) Pscudogene
T, Hatrar =8 =1, v oY, Al [ e i retardel
% Z S : Compl L
84) What is the plural voting system ? ¢ Pfrlygeue L Emp i

TRITHF FalfOear 69 547 § |
A} All the citizens caste three B) Eligible voter exercises 90) The ash-grey soils of high-latitude coniferous forests are

votes each. one vote and some volers known as:
wfr AT 3 YAmgp=Gific qualifications T e G HET & 3T9 W & A5 F o gH s a
cast more than one vote. o
e diet A & B af¥q dex U are g :
¥ Fur 5o ey A) Grey-Brown soils B) Red and Yellow soils
o T i #3eT A T 9 #qET
T e C) Tundra soils D) Podsols
) , "ima'f ale S & T3 HaT LT
C} Only the higher officials D) Candidates themselves
caste more than one votes. caste more than one vole, 91] Radio activif}' was discovered by:
Faw I HOFHT & el AT U H YR TitaT S wie 5o AR 8-
s o HiUw g & B yoF ae e ¥ |
A Curie g0 B) Becqueral / frgie
85) Which of the following plant shows chloroplast dimorphism? G} Soddy / & D) Rutherford ! TETEE
e & Fi7 & gy FeEcaee ZEgAitheA
wefia FLar &7
A) Sugarcane / 7T B) Sugar beet / TeeT
C) Rice/ums D) Wheat /31
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